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1000 N E = A(507E)

w14

204
+183

105
+732

489
+470

96
+750

72
+379

346
+602

968
+ 17

427
+501

610
+383

646
+156

312
+672

693
+245

665
+295

358
+434

102
+792

13
+248

442
+535

73
+248

302
+127

795
+130

546
+270

493
+383

243
+200

536
+278

68
+509

338
+641

549
+397

89
+18

344
+332

H#:

255
+701

198
+796

560
+ 41

468
+283

323
+535

760
+218

166
+749
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624
+238

793
+206

42
+679

123
+590

789
+ 83

/784
+ 51

743
+201

éj\

Y8

319
+243

10
+509

+84

741
+115

378
+613

23
+296

254
+377
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